=
<

a(d cot(d))
5

(0 @) (rad)

T T T
—_—
J——

1072

T
"
—
.
ant

1073

E
JERY: ) SO B VL0 ¥ 1Y U VY B JECY ) SRS L WP 1 1| NVPORY BSOS
T r J S r
24 r : 04 r
| -t H D - Feuy D
L pe L
I + T r T

0.95 : : : 0.95
o

-1 2 3 1 2 3
10 1 TPlpg)T (PCA t%obeamlinélf) 0 1 TPlpoT (PCA t%obeamlinélf)

—s=— DQM_V0001_R000000001__Global__mkFitbase_ RECO
—— DQM_V0001_R000000001__Global__CMSSW_X_Y_Z__RECO

= = 1=
= 1] i
5 5]
2 =
= =
< -
> o
o =2
3 ©

107}

192 ——11 QL LLL il AT B

: 2 : :
: T r : :
: 14 [ T :
i ------------ 1_— ----- +441-: 0 ------------
107 1 10 (:JZ 3 0'915(;'1 1 10 (:)2 3
TPp, (PCA t]b beamliné‘f) TPp, (PCA t]b beamling'f)

o p/p.)

107} :

—1 I I : 2 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


